— OB ERER

ZEREOHITRR (SHSE4A~SHSEAR)

*XHA - ZiL&%E
R XHIEH XHAR T
4 | 11 Bt FH 10,000
4 | 11 Bt 7t 16,500
4 | 28 Bt FH 10,000
4 | 28 B Rt 7t 16,500
5 | 10 E=1 B (CEOREBREBE RS 8,000
5 | 26 T | (CEaEREICKD N HEERTEIEERK) 3,548
5 | 26 T |BEE (ETEMR) 2,810
5 | 26 T | FH 10,000
5 | 26 %8 tEEBHEREREHRE 10,110
6 7 7ia BLTECKE) 2,980
6 7 7ia HP1rE(GRUERR) 5,200
6 | 20 %8 =EEE 2,800
6 29 ZOft |[ENRMAZEREROR-_tIAXEBEE 6,220
7 5 %8 2B (MEREHEERE) 2,090
7 | 13 %8 FEHMBERE R ERBERNS 2,200
7 | 13 %8 S5 (BTHFEE S 8,800
7 | 14 = BHESE (ENRHAZREROR=tIXHE) 3,000
7 | 19 Hia HrEFHBEZERTHE) 3,190
8 1 Gk FH 10,000
8 1 Gk 7t 20,405
8 3 e HE (SERARYAR) 10,000
8 3 B TEETARBRERYRS) 20,000
8 | 18 = IBE (BTHEE &) 4,840
8 | 22 7ia KB (ERBEBEGRSE) 4,500
8 | 24 #7ia HP1rE(GRUERR) 6,000
9 8 e BE (K R) 10,000
9 | 11 B PUE (ZErF KMt ER) 10,000
9 | 27 ZDith Sa=T4- RV )VEERERAEEEIVI—ILESME 5,000
9 | 27 = BHEIE (RSN DPRESEIOVIBHRE) 5,500
9 | 27 #Zia PLEGREZBEARZRSE) 1,800
A& &t 231,993




